

Lecture Notes in Mathematics

A collection of informal reports and seminars

Edited by A. Dold, Heidelberg and B. Eckmann, Zürich

188

Symposium on Semantics
of Algorithmic Languages

Lecture Notes in Mathematics

A collection of informal reports and seminars

Edited by A. Dold, Heidelberg and B. Eckmann, Zürich

188

Symposium on Semantics of Algorithmic Languages

Edited by E. Engeler, University of Minnesota



Springer-Verlag

Berlin · Heidelberg · New York 1971

AMS Subject Classifications (1970): 02E10, 02F43, 68A05, 68A10, 68A30

ISBN 3-540-05377-8 Springer-Verlag Berlin · Heidelberg · New York
ISBN 0-387-05377-8 Springer-Verlag New York · Heidelberg · Berlin

This work is subject to copyright. All rights are reserved, whether the whole or part of the material is concerned, specifically those of translation, reprinting, re-use of illustrations, broadcasting, reproduction by photocopying machine or similar means, and storage in data banks.

Under § 54 of the German Copyright Law where copies are made for other than private use, a fee is payable to the publisher, the amount of the fee to be determined by agreement with the publisher.

© by Springer-Verlag Berlin · Heidelberg 1971. Library of Congress Catalog Card Number 78-151406. Printed in Germany.

Offsetdruck: Julius Beltz, Weinheim/Bergstr.

PREFACE

During the last few years, a number of interesting results and promising ideas have been generated in the area of semantical aspects of programming languages. We felt that we would do a real service to this emerging field by calling a write-in symposium and collecting a number of representative contributions covering the various aspects.

We are happy to present here the results of this endeavor in the form of Lecture Notes. It is understood that many of the contributions represent work in progress and that some may appear elsewhere in final form. We take this opportunity to thank the contributors and Springer Verlag for their exceptionally prompt collaboration.

Minneapolis, October 1970

Erwin Engeler

P.S. The papers are arranged alphabetically according to authors, a joint bibliography is located at the end of the volume.

TABLE OF CONTENTS

Axiom Systems for Simple Assignment Statements	1
Dr. J. W. de Bakker Mathematisch Centrum 2 ^e Boerhaavestraat 49 Amsterdam (0), Netherlands	
A Property of Linear Conditionals.	23
Dr. J. W. de Bakker	
Formalization of Storage Properties.	28
Drs. H. Bekic and K. Walk IBM Laboratory Vienna Parkring 10 1010 Wien, Austria	
Program Schemes, Programs and Logic.	62
Prof. D. C. Cooper Department of Computer Science University College of Swansea Singleton Park, Swansea SA2 8PP Glamorgan, Wales, U. K.	
Algebraic Theories and Program Schemes	71
Dr. C. C. Elgot IBM Thomas B. Watson Research Center P. O. Box 218 Yorktown Heights, New York 10598 U.S.A.	
Structure and Meaning of Elementary Programs	89
Prof. E. Engeler School of Mathematics University of Minnesota Minneapolis, Minnesota 55455 U.S.A.	
Procedures and Parameters: An Axiomatic Approach.	102
Prof. C. A. R. Hoare Department of Computer Science The Queen's University of Belfast Belfast BT7 1NN, Northern Ireland, U. K.	
Semantics of ALGOL-Like Statements	117
Prof. S. Igarashi Computer Science Department Stanford University Stanford, California 94305 U.S.A.	

Proving Correctness of Implementation Techniques	178
Drs. C. B. Jones and P. Lucas IBM Laboratory Vienna Parkring 10 1010 Wien, Austria	
Examples of Formal Semantics	212
Prof. D. E. Knuth Computer Science Department Stanford University Stanford, California 94305 U.S.A.	
Experience with Inductive Assertions for Proving Programs Correct.	236
Prof. R. L. London Computer Science Department University of Wisconsin Madison, Wisconsin 53706 U.S.A.	
Mathematical Theory of Partial Correctness	252
Prof. Z. Manna Computer Science Department Stanford University Stanford, California 94305 U.S.A.	
Towards Automatic Program Synthesis.	270
Prof. Z. Manna and Dr. R. J. Waldinger Artificial Intelligence Group Stanford Research Institute Menlo Park, California 94025 U.S.A.	
The Lattice of Flow Diagrams	311
Prof. D. S. Scott Department of Philosophy 1879 Hall Princeton University Princeton, New Jersey 08540 U.S.A.	
Joint Bibliography	367

AXIOM SYSTEMS FOR SIMPLE ASSIGNMENT STATEMENTS*

by

J. W. de Bakker

1. Introduction

In this paper we present a number of axiom systems for simple assignment statements and investigate some of their properties and mutual relations.

Simple assignment statements are statements of the form $a := b$, $x := y$, etc. We give a formal definition (in section 2) of the effect of a sequence of simple assignment statements upon a variable. Two such sequences are called equivalent if they have the same effect upon all variables. In section 3, we single out four equivalences as axioms, and give a number of rules of inference which allow us to derive other equivalences. We then show that the axiom system is complete in the sense that if two sequences have the same effect upon all variables, then their equivalence is derivable in the system, and vice versa. The axioms are also shown to be independent. In section 5, we investigate the possibility of replacing the four axioms by a smaller number. First we show that three axioms suffice, and then we introduce an infinity of pairs of axioms, all equipollent with the original four. Some variations of these systems are discussed in section 6. In section 7, we give a one-axiom system, but with an extension of the main rule of inference.

Axiomatic characterizations of programming concepts in terms of equivalences have been given by McCarthy (1962, 1963a) as extended by Kaplan (1968b), and Igarashi (1964, 1968). Our paper is closest to Igarashi's, where (general) assignment, conditionals, and goto statements are treated. Igarashi also gives several

*This paper is a somewhat modified, and slightly extended, version of de Bakker (1968).

completeness theorems, of which ours is a special case (our proof is different, however). An axiomatic approach to programming concepts, including assignment, is also taken by Hoare (1969), but he does not take equivalence of statements as his starting point. References to various other approaches to assignment, not directly of an axiomatic nature, can be found in our survey paper (de Bakker, 1969) and in the bibliography of London (1970b) which also contains more recent material.

2. Definitions

Let V be an infinite set, V^2 the set of all ordered pairs of elements of V , and V^{2*} the set of all finite non-empty sequences of elements of V^2 . The elements of V are denoted by lower case letters, possibly with indices, e.g., $a, b, \dots, s_1, t_2, \dots, x, y, z$; the elements of V^2 are denoted by pairs such as $ab, s_1 t_2$, or xy , and the elements of V^{2*} are denoted by sequences such as $ab cd, s_1 t_2$, or $xy yz zx$. S, S_1, S_2, \dots stand for arbitrary elements of V^{2*} .

Definition 2.1 1. The elements of V are called variables.

2. The elements of V^2 are called assignment statements.

3. The elements of V^{2*} are called sequences of assignment statements.

The elements of V correspond to the (simple) variables of, e.g., ALGOL 60; the elements of V^2 to assignment statements such as $a := b, s_1 := t_2$, or $x := y$; and the elements of V^{2*} to sequences of assignment statements such as $a := b; c := d$, or $s_1 := t_2$, or $x := y; y := z; z := x$.

Definition 2.2 Let $S \in V^2$. $p_i(S)$, $i=1,2$, is the i th element of the ordered pair S .

Definition 2.3 Let $S \in V^{2*}$. The set of left parts, $\lambda(S)$, and the set of right parts $\rho(S)$, are defined by:

1. If $S \in V^2$, then $\lambda(S) = \{p_1(S)\}$ and $\rho(S) = \{p_2(S)\}$.

2. If $S = S_1 S_2$, $S_1 \in V^2$, $S_2 \in V^{2*}$, then

$$\lambda(S) = \lambda(S_1) \cup \lambda(S_2),$$

and

$$\rho(S) = \rho(S_1) \cup \rho(S_2).$$

Definition 2.4 Let $S \in V^{2*}$. The length $l(S)$ of S is defined by:

1. If $S \in V^2$, then $l(S) = 1$.
2. If $S = S_1 S_2$, $S_1 \in V^2$, $S_2 \in V^{2*}$, then $l(S) = 1 + l(S_2)$.

For the simple assignment statements we are concerned with in our paper, it is easy to give a formal description of their usual meaning, by defining the effect E of a sequence S upon a variable a .

Definition 2.5 The function $E: V \times V^{2*} \rightarrow V$ is defined by:

1. Let $a \in V$ and $S \in V^2$. Then

$$\begin{aligned} E(a, S) &= p_2(S), \text{ if } a = p_1(S), \\ &= a, \text{ if } a \neq p_1(S). \end{aligned}$$

2. Let $a \in V$ and $S = S_1 S_2$, with $S_1 \in V^{2*}$ and $S_2 \in V^2$. Then

$$E(a, S) = E(E(a, S_2), S_1).$$

Examples: $E(a, ab) = b$, $E(a, bc) = a(b \neq c)$, and $E(c, ab \ bc \ ca) = E(E(c, ca), ab \ bc) = E(a, ab \ bc) = E(E(a, bc), ab) = E(a, ab) = b$.

Next, the notion of equivalence of two sequences of assignment statements is defined in terms of the function E .

Definition 2.6 Let $S_1, S_2 \in V^{2*}$. S_1 and S_2 are called equivalent if for all $a \in V$, $E(a, S_1) = E(a, S_2)$.

Example 1: $ab \ bc \ ca \ ab$ and $ac \ cb \ ba$ are equivalent, since

$$E(a, ab \ bc \ ca \ ab) = c = E(a, ac \ cb \ ba),$$

$$E(b, ab \ bc \ ca \ ab) = c = E(b, ac \ cb \ ba),$$

$$E(c, ab \ bc \ ca \ ab) = b = E(c, ac \ cb \ ba),$$

and for all $d \neq a, b, c$,

$$E(d, ab \ bc \ ca \ ab) = d = E(d, ac \ cb \ ba).$$

Example 2: $ab \ bc$ and $bc \ ab$ are not equivalent, since

$$E(a, ab \ bc) = b, \text{ and } E(a, bc \ ab) = c.$$

3. An Axiomatic Theory for Equivalence

We now introduce a formal axiomatic theory \mathcal{J} for the equivalence of simple assignment statements. Well-formed formulas of the theory are expressions of the form $S_1 = S_2$, with $S_1, S_2 \in V^{2*}$. The axioms of the system are:

A_1 : For all $a, b \in V$, $ab\ ba = ab$.

A_2 : For all $a, b, c \in V$ with $a \neq c$, $ab\ ac = ac$.

A_3 : For all $a, b, c \in V$, $ab\ ca = ab\ cb$.

A_4 : For all $a, b, c \in V$, $ab\ cb = cb\ ab$.

The rules of inference are:

R_1 : If $S_1ac = S_2ac$, and $S_1bd = S_2bd (a \neq b)$, then $S_1 = S_2$.

R_2 : If $S_1 = S_2$, then $S_2 = S_1$. If $S_1 = S_2$ and $S_2 = S_3$, then $S_1 = S_3$.

R_3 : If $S_1 = S_2$, then $SS_1 = SS_2$ and $S_1S = S_2S$.

Remarks:

1. The set of axioms $\{A_1, A_2, A_3, A_4\}$ is denoted by \mathcal{A} .

2. Rule R_1 may be understood intuitively as follows: If S_1 and S_2 have the same effect upon all variables with the possible exception of a , if they have the same effect upon all variables with the possible exception of b , and if $a \neq b$, then S_1 and S_2 have the same effect upon all variables, i.e., $S_1 = S_2$.

3. We shall use formulae of the form $S_1 = S_2 = S_3 = \dots$ as an abbreviation for $S_1 = S_2$ and $S_2 = S_3$ and $S_3 = \dots$.

Lemma 3.1. $S = S$.

Proof.

(1) $ab\ ba = ab$, A_1 ;

(2) $ab = ab\ ba$, (1), R_2 ;

(3) $ab = ab$, (2), (1), R_2 ;

(4) $S = S$, (3), R_3 .

From now on, the rules R_2 and R_3 will be used without explicit mentioning.

Lemma 3.2. $ab\ ab = ab$.

Proof. $ab\ ab = ab\ ba\ ab = ab\ ba = ab$, by A_1 , A_1 , A_1 .

Lemma 3.3. If $a \neq c$, $a \neq d$, and $b \neq c$, then $ab\,cd = cd\,ab$.

Proof.

- (1) $ab\,cd\,cb = ab\,cb\,(b \neq c)$, A_2 ;
- (2) $cd\,ab\,cb = cd\,cb\,ab = cb\,ab\,(b \neq c)$, A_4, A_2 ;
- (3) $ab\,cd\,cb = cd\,ab\,cb\,(b \neq c)$, (1), (2), A_4 ;
- (4) $ab\,cd\,ad = cd\,ab\,ad\,(a \neq d)$, similar to (3);
- (5) $ab\,cd = cd\,ab\,(a \neq c, a \neq d, b \neq c)$, (3), (4), R_1 .

Lemma 3.4. If $\lambda(S_1) \cap \lambda(S_2) = \lambda(S_1) \cap \rho(S_2) = \lambda(S_2) \cap \rho(S_1) = \emptyset$, then $S_1 S_2 = S_2 S_1$.

Proof. By repeated application of lemma 3.3.

(Using the completeness theorem of section 4, it can be proved that the assertion of the lemma also holds with "if" replaced by "only if".)

Lemma 3.5. $aa\,bc = bc\,aa = bc$.

Proof. 1. First we show that $aa\,bc = bc$.

- (1) $aa\,ba = ba\,aa = ba\,ab = ba$, A_4, A_3, A_1 ;
- (2) $aa\,ac = ac$, A_2, A_1 ;
- (3) $aa\,bc\,ac = aa\,ac\,bc = ac\,bc = bc\,ac$, $A_4, (2), A_4$;
- (4) $aa\,bc\,ba = aa\,ba = ba = bc\,ba\,(a \neq b)$, $A_2, (1), A_2$;
- (5) $aa\,bc = bc\,(a \neq b)$, (3), (4), R_1 ;
- (6) $aa\,bc = bc$, (2), (5).

2. Now we prove that $bc\,aa = bc$.

- (7) $bc\,aa = aa\,bc = bc\,(a \neq b, a \neq c)$, lemma 3.3 and part 1;
- (8) $ac\,aa = ac\,ac = ac$, A_3 and lemma 3.2;
- (9) $ba\,aa = ba\,ab = ba$, A_3, A_1 ;
- (10) $bc\,aa = bc$, (7), (8), (9).

Lemma 3.6. $aa\,S = S\,aa = S$.

Proof. Follows by lemma 3.5.

The next lemma is included because its proof illustrates the method used in the proof of the completeness theorem in the next section. The lemma shows the effect of two successive interchanges of the two variables b and c .

Lemma 3.7. $ab\ bc\ ca\ ab\ bc\ ca = ac\ (a \neq c)$.

Proof. It is easy to verify, using the previous lemmas, that the assertion holds if $a=b$ or $b=c$. Now suppose that a, b, c differ from each other. Let x, y, z be three variables, different from a, b, c . Then

$$\begin{aligned}
 ab\ bc\ ca\ ab\ bc\ ca\ ax\ by &= ab\ bc\ ca\ ab\ bc\ by\ ca\ ax = \\
 ab\ bc\ ca\ ab\ by\ ca\ ax &= ab\ bc\ ca\ ab\ ca\ by\ ax = \\
 ab\ bc\ ca\ ab\ cb\ by\ ax &= ab\ bc\ ca\ cb\ ab\ by\ ax = \\
 ab\ bc\ cb\ ab\ by\ ax &= ab\ bc\ ab\ by\ ax = \\
 ab\ bc\ ac\ by\ ax &= ab\ ac\ bc\ by\ ax = \\
 ac\ by\ ax &= ac\ ax\ by
 \end{aligned}$$

by the axioms and lemma 3.3. Hence,

$$(1) \quad ab\ bc\ ca\ ab\ bc\ ca\ ax\ by = ac\ ax\ by.$$

Similarly, it is proved that

$$(2) \quad ab\ bc\ ca\ ab\ bc\ ca\ by\ cz = ac\ by\ cz,$$

and

$$(3) \quad ab\ bc\ ca\ ab\ bc\ ca\ ax\ cz = ac\ ax\ cz.$$

By (1), (2), and R_1 ,

$$(4) \quad ab\ bc\ ca\ ab\ bc\ ca\ by = ac\ by.$$

By (1), (3), and R_1 ,

$$(5) \quad ab\ bc\ ca\ ab\ bc\ ca\ ax = ac\ ax.$$

By (4), (5), and R_1 , $ab\ bc\ ca\ ab\ bc\ ca = ac$.

Remark. Lemma 3.7 is a fundamental property of assignment. In fact, it may replace axiom A_2 :

$$(1) \quad ab\ ab = ab, \quad \text{lemma 3.2;}$$

$$(2) \quad ab\ ac = ab\ ab\ bc\ ca\ ab\ bc\ ca = ab\ bc\ ca\ ab\ bc\ ca = ac\ (a \neq c), \quad \text{lemma 3.7, (1), and lemma 3.7.}$$

Hence, A_2 can be proved from A_1 and lemma 3.7.

4. Completeness and Independence of the Axiom System

Theorem 4.1. (Completeness theorem) Two sequences of assignment statements S_1 and S_2 are equivalent (in the sense of definition 2.6) if and only if $S_1 = S_2$ is a theorem of J .

For the proof, we need an auxiliary theorem. We use the notation $\prod_{j=1}^m S_j$ as an abbreviation for $S_1 S_2 \dots S_m$.

Theorem 4.2. Let $S \in V^{2*}$, $\lambda(S) = \{a_1, a_2, \dots, a_m\}$, $m \geq 1$. Let X be a subset of V such that $X \cap \lambda(S) = \emptyset$. Then for each i , $1 \leq i \leq m$, and each $x_1, x_2, \dots, x_m \in X$,

$$S \prod_{\substack{j=1 \\ j \neq i}}^m a_j x_j = a_i E(a_i, S) \prod_{\substack{j=1 \\ j \neq i}}^m a_j x_j.$$

Proof. We use induction on the length of S

1. $\ell(S) = 1$, i.e., $S = ab$, for some $a, b \in V$. Then, clearly $ab = aE(a, ab)$.
2. Let the assertion be proved for all $S' \in V^{2*}$ with $\ell(S') = n$. Let S be an element of V^{2*} , with $\ell(S) = n+1$. Then $S = S'ab$, for some $ab \in V^2$ and $S' \in V^{2*}$ with $\ell(S') = n$. Let $\lambda(S') = \{a_1, a_2, \dots, a_m\}$, for some $m \leq n$. We distinguish two cases, $a \in \lambda(S')$ and $a \notin \lambda(S')$.
- 2.1. $a \in \lambda(S')$, i.e., $a = a_k$ for some k , $1 \leq k \leq m$. We have to prove that for each i , $1 \leq i \leq m$,

$$S' a_k b \prod_{\substack{j=1 \\ j \neq i}}^m a_j x_j = a_i E(a_i, S' a_k b) \prod_{\substack{j=1 \\ j \neq i}}^m a_j x_j.$$

We distinguish the cases $i = k$ and $i \neq k$.

2.1.1. $i = k$

Case (α). $b \notin \lambda(S')$. Then

$$\begin{aligned} S' a_k b \prod_{\substack{j=1 \\ j \neq k}}^m a_j x_j &= S' \prod_{\substack{j=1 \\ j \neq k}}^m a_j x_j a_k b = a_k E(a_k, S') \prod_{\substack{j=1 \\ j \neq k}}^m a_j x_j a_k b = \\ a_k b \prod_{\substack{j=1 \\ j \neq k}}^m a_j x_j &= a_k E(b, S') \prod_{\substack{j=1 \\ j \neq k}}^m a_j x_j = a_k E(a_k, S' a_k b) \prod_{\substack{j=1 \\ j \neq k}}^m a_j x_j, \end{aligned}$$

by repeated use of lemma 3.3, by the induction hypothesis, and since

$b \notin \lambda(S')$ implies $E(b, S') = b$.

Case (β). $b = a_k$. This case follows directly from the induction hypothesis and lemma 3.6.

Case (γ). $b = a_h$, for some $h \neq k$. Let x_k be an arbitrary element of X . Then

$$S' \ a_k a_h \prod_{j \neq k} a_j x_j = S' \ a_k x_k \ a_k a_h \prod_{j \neq k} a_j x_j =$$

$$S' \ \prod_{j \neq h} a_j x_j \ a_k a_h \ a_h x_h = a_h \ E(a_h, S') \ \prod_{j \neq h} a_j x_j \ a_k a_h \ a_h x_h =$$

$$a_h \ E(a_h, S') \ a_k a_h \prod_{j \neq k} a_j x_j = a_h \ E(a_h, S') \ a_k \ E(a_h, S') \ a_h x_h \prod_{j \neq h, k} a_j x_j =$$

$$a_k \ E(a_h, S') \ \prod_{j \neq k} a_j x_j = a_k \ E(a_k, S' \ a_k a_h) \ \prod_{j \neq k} a_j x_j$$

by A_2 , A_3 , lemma 3.3, and the induction hypothesis.

2.1.2. $i \neq k$. Follows easily from the induction hypothesis.

2.2. $a \notin \lambda(S')$, i.e., $\lambda(S) = \{a_1, a_2, \dots, a_m, a_{m+1}\}$, with $a = a_{m+1}$. Here we have to prove that for each i , $1 \leq i \leq m+1$,

$$S' \ a_{m+1}^b \prod_{\substack{j=1 \\ j \neq i}}^{m+1} a_j x_j = a_i \ E(a_i, S' \ a_{m+1}^b) \prod_{\substack{j=1 \\ j \neq i}}^{m+1} a_j x_j.$$

2.2.1. $i = m+1$. Again the cases $b \notin \lambda(S)$, $b = a_{m+1}$, and $b = a_h$, $1 \leq h \leq m$, must be distinguished. The proofs are then similar to cases (a), (b), and (c) above.

2.2.2. $i \neq m+1$. Follows easily from the induction hypothesis. This completes the proof of theorem 4.2.

We can now give the proof of theorem 4.1.

Proof of theorem 4.1.

1. First we prove: If $S_1 = S_2$ is a theorem of \mathcal{J} , then for all $a \in V$, $E(a, S_1) = E(a, S_2)$. Let $A_{i1}(A_{ri})$, $i = 1, 2, 3, 4$, denote the left-hand side (right-hand side) of the axiom A_i . It is easy to verify that for all $a \in V$, $E(a, A_{i1}) = E(a, A_{ri})$. Moreover, it is easily established that the property of having the same effect upon all variables is preserved by application of the rules of inference.
2. Let $E(a, S_1) = E(a, S_2)$ for all $a \in V$. We prove that then $S_1 = S_2$ is a theorem of \mathcal{J} . We may assume that $\lambda(S_1) = \lambda(S_2)$, say $\lambda(S_1) = \lambda(S_2) = \{a_1, a_2, \dots, a_m\}$. (If, e.g., $a_1 \in \lambda(S_1) \setminus \lambda(S_2)$, then replace S_2 by $S_2 \ a_1 a_1$, etc.) Let $X \subseteq V$ be such that $X \cap \lambda(S_i) = \emptyset$, $i = 1, 2$. Then, by theorem 4.1, for each i , $1 \leq i \leq m$,

$$S_1 \prod_{\substack{j=1 \\ j \neq 1}}^m a_j x_j = a_1 E(a_1, S_1) \prod_{\substack{j=1 \\ j \neq 1}}^m a_j x_j ,$$

and

$$S_2 \prod_{\substack{j=1 \\ j \neq 1}}^m a_j x_j = a_1 E(a_1, S_2) \prod_{\substack{j=1 \\ j \neq 1}}^m a_j x_j .$$

Since $E(a_1, S_1) = E(a_1, S_2)$, we have

$$S_1 \prod_{\substack{j=1 \\ j \neq 1}}^m a_j x_j = S_2 \prod_{\substack{j=1 \\ j \neq 1}}^m a_j x_j , \quad i=1,2,\dots,m .$$

Suitable repeated application of R_1 now gives $S_1 = S_2$. This completes the proof of theorem 4.1.

For the proof of the independence of our axiom system, we need a new concept and some notations. We introduce an auxiliary function F . Let N be the set of non-negative integers.

Definition 4.1. The function $F: V \times V^{2*} \rightarrow N$ is defined by

1. Let $a \in V$ and $S \in V^2$. Then

$$F(a, S) = 1 , \text{ if } a = p_1(S) \text{ and } a \neq p_2(S) ; \\ = 0 , \text{ otherwise.}$$

2. Let $a \in V$ and $S = S_1 S_2$, with $S_1 \in V^{2*}$ and $S_2 \in V^2$. Then

$$F(a, S) = F(a, S_2) + F(E(a, S_2), S_1) .$$

$F(a, S)$ may be described as the number of non-trivial steps which are made in calculating the effect of S upon a .

Example: Let a, b, c be three different variables.

$$F(b, ab \ ca \ bc \ bb) = F(b, bb) + F(E(b, bb), ab \ ca \ bc) = \\ 0 + F(b, ab \ ca \ bc) = F(b, bc) + F(E(b, bc), ab \ ca) = \\ 1 + F(c, ab \ ca) = 1 + F(c, ca) + F(E(c, ca), ab) = \\ 1 + 1 + F(a, ab) = 3 .$$

Definition 4.2. The sets of axioms $Q \setminus \{A_i\}$, $i=1,2,3,4$, are denoted by

Q_i .

In the remainder of this section and in the following sections, we shall consider sets of axioms which differ from \mathcal{Q} . Therefore, the following notation is introduced:

Definition 4.3. Let \mathcal{F} be a set of axioms, and let $S_1, S_2 \in V^{2*}$. $\mathcal{F} \vdash S_1 = S_2$ means that $S_1 = S_2$ can be derived from the set of axioms \mathcal{F} by application of R_1 , R_2 , R_3 .

Usually, it is clear from the context which set of axioms is meant. Explicit mentioning of it is then omitted. E.g., up to now, $S_1 = S_2$ always meant $\mathcal{Q} \vdash S_1 = S_2$. We now prove the independence theorem.

Theorem 4.3. The set of axioms \mathcal{Q} is independent.

Proof. We exhibit four properties $P_i = P_i(S_1, S_2)$, $i=1,2,3,4$, such that if $\mathcal{Q}_i \vdash S_1 = S_2$, then $P_i(S_1, S_2)$ holds, but $P_i(A_{li}, A_{ri})$ does not hold. (A_{li} and A_{ri} are the left- and right-hand sides of A_i .) These properties are:

P_1 : $\lambda(S_1) = \lambda(S_2)$.

P_2 : $s(S_1) = s(S_2)$, where, for $S \in V^{2*}$, $s(S)$ is the second variable of the first assignment statement in the sequence S .

P_3 : For all $a \in V$, $F(a, S_1) + F(a, S_2)$ is an even number.

P_4 : $f(S_1) = f(S_2)$, where, for $S \in V^{2*}$, $f(S)$ is the first variable of the first assignment statement in the sequence S .

5. Equipollent Axiom Systems

In this section, we introduce several (in fact, an infinity of) smaller sets of axioms for assignment statements, and we prove that from these systems the same equivalences can be derived as from \mathcal{Q} . (We do not change the rules of inference, R_1 , R_2 , and R_3 .)

Definition 5.1. Let $\mathcal{F}_1, \mathcal{F}_2$ be two sets of axioms for assignment statements.

$\mathcal{F}_1 \Rightarrow \mathcal{F}_2$ is used as an abbreviation for: For all $S_1, S_2 \in V^{2*}$, if $\mathcal{F}_1 \vdash S_1 = S_2$, then $\mathcal{F}_2 \vdash S_1 = S_2$. \mathcal{F}_1 and \mathcal{F}_2 are called equipollent, denoted by $\mathcal{F}_1 \Leftrightarrow \mathcal{F}_2$, if $\mathcal{F}_1 \Rightarrow \mathcal{F}_2$ and $\mathcal{F}_2 \Rightarrow \mathcal{F}_1$.

In order to reduce the number of axioms, one looks for equivalences which, in some sense, combine the properties of some of the axioms A_1, A_2, A_3 , and A_4 . Two

equivalences which combine A_3 and A_4 are

$$B: ab\ ca = cb\ ab \text{ and } B': ab\ ca = cb\ ac.$$

Combinations of A_1, A_3 , and A_4 are given by

$$C_1: ab\ ca\ bc = cb\ ab \text{ and } C'_1: ab\ ca\ bc = cb\ ac.$$

The structure of C_1 and C'_1 suggests that one also considers

$$D_1: ab\ ca\ bc\ ab = cb\ ab \text{ and } D'_1: ab\ ca\ bc\ ab = cb\ ac,$$

$$E_1: ab\ ca\ bc\ ab\ ca = cb\ ab \text{ and } E'_1: ab\ ca\ bc\ ab\ ca = cb\ ac,$$

$$C_2: (ab\ ca\ bc)^2 = cb\ ab \text{ and } C'_2: (ab\ ca\ bc)^2 = cb\ ac,$$

etc. ((S)ⁿ is a sequence of n times S.) The general form of these equivalences is:

$$C_n: (ab\ ca\ bc)^n = cb\ ab \text{ and } C'_n: (ab\ ca\ bc)^n = cb\ ac,$$

$$D_n: (ab\ ca\ bc)^n ab = cb\ ab \text{ and } D'_n: (ab\ ca\ bc)^n ab = cb\ ac,$$

$$E_n: (ab\ ca\ bc)^n ab\ ca = cb\ ab \text{ and } E'_n: (ab\ ca\ bc)^n ab\ ca = cb\ ac.$$

It is easily verified that all these equivalences are indeed provable from \mathcal{Q} .

$$\text{Let } \mathcal{B} = \{A_1, A_2, B\} \text{ and } \mathcal{B}' = \{A_1, A_2, B'\},$$

$$\mathcal{C}_n = \{A_2, C_n\} \text{ and } \mathcal{C}'_n = \{A_2, C'_n\},$$

$$\mathcal{D}_n = \{A_2, D_n\} \text{ and } \mathcal{D}'_n = \{A_2, D'_n\},$$

$$\mathcal{E}_n = \{A_2, E_n\} \text{ and } \mathcal{E}'_n = \{A_2, E'_n\}.$$

We shall prove that \mathcal{B} , \mathcal{B}' , and, for each $n \geq 1$, \mathcal{C}_n , \mathcal{D}'_n , \mathcal{E}_n , \mathcal{E}'_n are all equipollent with \mathcal{Q} . As we shall see in section 6, this does not hold, in general, for \mathcal{C}'_n and \mathcal{D}_n .

Theorem 5.1. $\mathcal{Q} \Leftrightarrow \mathcal{B}$.

Proof. $\mathcal{B} \Rightarrow \mathcal{Q}$ is clear. In order to prove $\mathcal{Q} \Rightarrow \mathcal{B}$, it is sufficient to show that

$\mathcal{B} \vdash A_3$ and $\mathcal{B} \vdash A_4$:

$$(1) \ ab\ ca = ab\ ca\ ac = cb\ ab\ ac = cb\ ac = ab\ cb \ (a \neq c), \ A_1, B, A_2, B;$$

$$(2) \ ab\ aa = ab\ ab, \ B;$$

$$(3) \ ab\ ca = ab\ cb, \ (1), (2).$$

Hence, $\mathcal{B} \vdash A_3$. From A_3 and B , A_4 follows directly.

Theorem 5.2. $\mathcal{Q} \Leftrightarrow \mathcal{B}'$.

Proof. $\mathcal{B}' \Rightarrow \mathcal{Q}$ is clear. Proof of $\mathcal{Q} \Rightarrow \mathcal{B}'$: